Az112 = A@{X3,8,7,25 X7,10,9,15 X10,11,4,95 X8,6,5,11}3

A1221 = A@{X3,8,7,15 X3,10,9,85 X10,6,11,95 X11,5,4,7}3

Azz11 = A@{X3,8,7,25 Xs,6,9,75 Xo,11,10,15 X11,5,4,101}5

A1122 = A@{X3,8,7,15 X8,9,4,75 X3,11,16,95 X11,6,5,10}3

A1 = A@{Xz,8,7,15 Xs,5,4,75 P3,6}5 HAzz = A@{Xj3,8,7,25 Xs,6,5,75> P1,a};

Ay = A@{Py 4, P25, P3,6};

8. [z ] i= 242 4+ 27V

g+[t1] 8-[T2] A2112 - 8-[T2] 8. [T3] A1221 - 8-[T3/ T1] (FAz211 + Ar122) +
g8-[tat3/t1] 84[t3] A11 -8, [t1] 8- [T1 T2/ T3] A2 = 8- [T-g/ti] Ag

1/2 -1/2
g.[z_]:=2"2-2Y%



